





Search Rulg

Gap identification — clearly
the Town has significant
wireless service deficiencies.

The search area is determined by computing the
current service levels from all existing Tacilities which:
service the Town. This is not the service area Tor an}
single carrier but a composite of all the existing
carriers service into the Town. Each of the 4 emshng
carriers would have different coverage objectives ancd
each carvier would develop their own search area
based on their individoal needs. Tt would be likely

that no lexs than 4 but more likely & new search rings

would be the result. While all carrier’s do not
npemie- from all these adjacent facilities, they could,
|t :3 their option. Understand there could bemany
rimgs, but there has to be available property for them
to locate, so if there is no available properfy the -
carriers would require additional hﬂgEis from
whatever was available. rings. NMost citizens and: -
local governments do not Know this information, amnd
the carriers swould not voluntarily divulge, buot it is
another local government option than can be used,
but requires the assistance of a pmfusslﬂnal.
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